
Multiplication: Negative Decimal Numbers (H - set 4)
TWO DECIMAL PLACES

Name:

Time: Score: /

121) −0.4× 0.2 = 136) 1× (−7) =

122) −0.05× (−0.1) = 137) 0.7× (−2) =

123) 0× 0.08 = 138) 0.01× 0.5 =

124) −5× (−7) = 139) 0.01× (−6) =

125) −5× 0.01 = 140) 10× 0.5 =

126) −0.6× (−0.7) = 141) 6× 0.3 =

127) 1× (−0.4) = 142) −9× 6 =

128) −0.1× 0.1 = 143) −0.6× (−0.06) =

129) 1× 1 = 144) 7× 0.9 =

130) −0.04× (−0.1) = 145) −0.02× 7 =

131) 6× 5 = 146) −2× (−0.06) =

132) 9× (−6) = 147) −10× (−3) =

133) −0.01× 1 = 148) 1× (−0.08) =

134) −0.2× 8 = 149) −0.1× 1 =

135) −0.2× (−0.1) = 150) 0.03× 4 =
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